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1. Write your Roll No. on the top immediately on receipt

of this question paper.

2. This paper consists of 6 questions. Answer any 4

questions

3. AII questions carry equal marks. (18.75)

4. Answers may be written either in English or Hindi;

but the same medium should be used throughout the

paper.
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(a) What is national wealth? Why is it important? How

is national wealth related to national saving?

(c) Differentiate between intermediate and final goods.

Under which category, are "capital goods"
included? (6.75,6,6)

(q.) ir{e t-eqfr Hr l? zra d ct-€E"t +? z16 rrqc E-+t

t fr-s y-*n (qRrd t?

(t+) n$e qrq tqi6-{ fr ftt- frBA- + GDP 16T lFrr;l'

c'RqFrr Bif cr< *dr *? vqansr

(.r) cte-{tr s G{fu{ {<S + qtzr il..R Htre dftsl
'Tftrrf, sFg{' fr-( ifi + <F{fra m iilff l?

(a) How is the rate of interest determined by the

demand and supply of money? What happens to

the interest rate if:
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sc+rr sr{, c :200 + 0.6Yd

tFt = 0.2Y

fffu, r= roo-ei

a-tqt qq = tSO

:frF+. Tcr + sr^fi = 4oo

fr{d Rr, p=2

qrRF+. grr fr cm, L = o.2y-8i

(i) ts-lrra qfi-qtut- d fttusr

(ii) onq q qrfr qt + {<tr{ Rr * rrom qifuq,

6. (a) Explain the concept of Transmission Mechanism

(b) Derive the IS curve. What determines the slope

of IS curve? Explain it with the help of diagrams.

(c) Briefly explain the following:

(i) Automatic Stabilizers in the economy

(ii) Full Crowding out (4,8.7s,6)
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(b) Why do three methods of national income
accounting yield same measure of GDP? Explain.
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Investment, I = 100 - 8i

Government Spending = i50

Nominal money supply = 400

Pricelevel,P=2

Demand for real balances, L = 0.2Y-8i

(i) Write the IS-LM equations

(ii) Calculate the equilibrium level of income

and interest rate. (8.75,6,4)

(o') ar LM {n + ad + +F+, fth fr vrrrh-ar (3{rc

+ cRE-t< + qA t) fu +€ ffG-dnt A+ l? *R-q

E waitn LM qfr fr * qtq fufrct* t wr *dl

+?

(T{) '3q*T qi 3-!-rfl frtt< vEft * qr<q vq-u cr{r r*'

drf, o{fu6 rr IS Tm'zFI ura 6"q A urtr *r" c+ slRra

* rarrrar t rrsrEs r
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(i) Nominal income increases

(ii) Money supply increases

(b) What is seignorage? Discuss the impact of
constant rate of money growth on seignorage.

(c) Briefly explain the following concept:

(i) Fisher Effect

(ii) Debt monetization (6,6.1s,6)

(o') g-cr fr qm s ffi t ere q( fr{ }r6'R ftffr( +ft
*? qrw c< q{ wI qqrq q.s<r * qP:

(i) *tr6 ern t EE *fr *

(ii) T{r m s{r$ t gk +ft i
(i<) ranr g?r -r+{r (seignorage) wr t? *Fo gk d

Rn ?i + cinrr SEI -rtr<r yt eaftI $r fr+q-{ dfrq I

(zr ) Fr<RRm eretrnsnii d q*q t tqsrcs;

(i) fr'sr nqrq

(ii ) a'r qr *fi-orsr
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3 (a) What is money multiplier? Suppose an economy

has monetary base of $20 million. Calculate money

supply in the following situations :

(i) All the money is held as demand deposits

and banks hold 5 per cent of their deposits

as reserves.

(ii) All the money is held as currency

(c) What is High Powered Money? To what extent

does High Powered Money affect the Money

Supply in an economy? (6,7.75,5)

(q.) udr nuFF'eil l? qm sfrq fr !q' tsr"iqqelT + rlB'+'

Brsm S2o frfrffi ir ffifr{d ffi t W *
3n{ffi d rrsr<r dfrq.

(i) vt $r e+ crlr v{B} * w i tcqr crdr * qr

+6 i{T+ qqr* 6r s yFtsrd iirifut FE +
winsilr

(i) rt qRrd-* + qfurmstq snq q5ilr inc I
gk * utar oli i qr trim d? Bit-?

(ii) crt des fr Mpc=0.8, Er fr 
"r=0.2s, 

orq

q. R = soo, 6G=20, ,*= 2n q-Am sru t
qF+f{ drf, *frqr

(iii) {trc aftris i- flr cftdt{ +.r? Ttr srDriq

+ cRif{ +it- Ear l?

(a) Does the slope 6f LM curve have any implications

for the effectivehess of monetary policy in terms

of changes in income? What happens in

two extreme cases of horizontal and vertical LM

curves?

(b) "A higher marginal propensity to consume leads

to a steeper aggregate demand curve and a flatter.
IS curve." Explain it with the help of diagrams.

(c) Consider an economy with following specifications

Consumption Function, C = 200+0.6Yd

Tax:0.2Y

5

(ii) srt IiT at& * sq t td urfr *r

(b) Discuss the elements of Stabilization Programs.

What are the costs of Stabilization?

P. T. O.
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(re) fut-+<ur c,rffi + a-d ul fr*++ u16q1 ftqt-6{ur

zft qr arrri l?

(r) u.a flk Ta flr l? c-6 d"iqq-q{trr t fa d sn 
^qffi

ol o-d rm sqrfud 6.& ??

(a) Explain the effect of increase in government

spending on interest rate and loanable funds in

Classical model.

(b) Examine the impact of a contractionary fiscal

policy on output and interest rate under two

assumptions:

(i) Interest rates are kept constant

(ii) Money stock is kept constant

P,T,O

(c) Suppose the government decides to reduce transfer

payments but to increase governm€nt purchases

of goods and services by an equal amount, that is,

it undertakes a change in fiscal policy such that

6G = -1TR. Then.
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(i) Would you expect equilibrium income to

rise or fall as a result of this change?

whv?

(ii) Suppose MPC = 0.8, Tax Rate:0.25, level

of income=800, 6G=20, lTR =-20. Find the

change in equilibrium income.

(iii) What is the change in budget surplus? Why

has budget surplus changed? (6,6,6.15)

(q) mrffi fie-d i sc*rt qq t gtr * cfunceGq qrw

"1 
q aur+q frD .n *t Ere yqrd o] <csrqsr

(te) ffift+a * qr;qnei + sr<ifu rga.rort rl-G-qi$c

*R * cfurs€{sq sFr€ q qrcr ?r rr A+ sre eqrsl-

qr caHsr dfrs;

(i) qr* d ftR t6 ire ?

(ii) 1.dr qr d-+ Rn r.qr vrfl I

(.r) qrr Afry fr lr<rr o{<RuI grrdft * q-q ac*

<qeil < t-<r$ qr r.6,t qq t Ttrfr A {ft fr gB

o-rft a, :rrfrr qa rrffi]qc *ft t ss r+n or qftq-&r

HrS+fr6G=-6TR.a-e,


